[ Efficiency vs vertpos |

= 0.5
£0.09
4
2.0.08
2
©0.07
=]

5 0.06
0.05
0.04
0.03
0.02

0.01

...............................

1.0

Ratio

||’—|||

0.95L : :
1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_original_1000evt

Efficienq —— DQM_fitted4_1000evt

~ 0.1
$0.09
2]
£0.08
>
2
50.07
£0.06
(]
0.05
0.04
0.03

................

................

................

0.02F -+++-heeseees L N S
.02+ rpeereefpedones SR SO S
A S L. N U T
o tuor * : I t
T r i
o [
- Freeee- o ERE RIS [

093~ =20 -10 0 10 20 30

TP vert z (cm)

[ Effici

ency vs. sim PV z |

~ 0.2

> o
80.18F

S

effic

& 0.16F
20.14F
2 F
50.12_

0.1
0.08F
0.06F

=

095615 10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


